Section 11.6 Worksheet
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Find the common denominator between the pair of rational expressions.

2 x 4 2
1); "4 2')Jc—4'.7c+2
HY ockoy . 7 () [x 9 0}
NPT xt2) |
O L 7.y \Zg\ ] ~Nlx 1 2)| ©
a) -2 4 e “x‘iﬁ-T“
x+3 x 8x3
© (X\*'ﬂ 0 2-2.7-x XX
. M X _
6 ' & "
XX ﬂ\ @22 1XxX X‘COXB.]
Find the sum of the rational expression and simplify.
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Find the difference of the rational expression and simplify.

- - N 10X Sx 3
Moes 2 x¥ @————X\M‘L - H—)-(—L ® O ‘)5 ® 5 e
3% L wx CER A x- 3
32X X =X \',52*,:} o 3 B
®"f‘;’?-‘u \\2”‘ ) 5% %‘?%ﬂ @ L2
% A i -~ -
BRI ST = x ’
X Ux ‘
15');::7;_ 3::;2 16')}——_2"_;%-2'
OXUACTRN 3x-U _ X3P O (x-2)
ea})akfx Li:) RETEETUR kwl-)
=3 e D) x~2\ (Xfl)
) )L_l:_‘) 3x-1) Ix L x\xkfﬂ 7“_(: 1)
X-94 ° 3(x-4Y 5\3('% O ,j_)ﬁ.ﬂ-\-e—- 4 1% ¥
- 6 J xfl x-OXTD X1 T x-xtd)
»3 D X - -
3x-(x-4) x (x 12) <D
G) pxal - ‘*X -8 Yx t 2z
REVIEW: (DX DD mu(x
Simplyicf:jh:xe:iressio:.- L\ ) . D l_\ (x N \D\
) ‘Z/:L—I ] _Lf 18.)— | (X YOI X- 1\
3 i 1\
X »lx\’Zx t % (X \
— 111K
Xx(x-0)-1x-1) P
‘Xi.‘__

(% A

Scanned with CamScanner



